
1

2

3

4

5

6

7

8

9
10

11

12

13

14

TAWI
Box 10205 434 23 KUNGSBACKA Sweden

Tel +46 300 185 00
info@tawi.se

www.TAWI.com

            Sugfot 20810
Nr Vinkelled  20810 A

n
ta

l

Art.nr

1 Vinkelled, överdel, 90 grader 4 20809

2 Glidbussning 10X12X18X9 2 10808

3 Vinkelled, underdel, 90 grader 4 20806

4 Bricka M10 D21 2 *

5 Skruv M10X35 2 *

6 Mutter M10, låsbar 2 *

7 Popnit M6 4 *

8 Plåtram 1 20093

9 Gummipackning 1 10092

10 Skruv  M6X25 4 *

11 Förmonterbricka 4 *

12 Mutter M6 4 *

13 Luftslang Ø 45mm (pris/m) 1 PUR45

14 Slangklämma 38-50mm 2 30117


